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Warm Up
Prove the following identity:
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Prove the following identities:

#1.

#2.
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Warm Up
Prove the following identities...
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HOMEWORK...

Do questions #2 ­ 27
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2. cos ) % tan 0 = sin 0

coté 1 -—sin?0
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6. (sin® + cos 6)2 = 1 + 2sin 6 cos 8
7. 2sin?H — 1 =sin28 — cos? 0
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9. cos?t = sin?t + 2 cos?t ~ 1
10. tan 8 = tan® @ x cot 0
11. sec? + csc2 0 = sec? 6 x csc? §
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13. tan? x — sin? x = sin? x tan? x
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2. cos 0 X tan 0 = sin 0

tan .= eos0
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4. corp = —°% b
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6. (sin® + cos 8)2 = 1 + 2 sin 6 cos 6
7.2sin?0 — 1 =sin2@ — cos? §
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sin?6 ~ cos?26  sin? 6 cos? 0

9. cos?t = sin?t + 2 cos?t — 1
10. tan 6 = tan? 6 x cot O
11. sec? § + csc? 0 = sec? 0 x csc? 0
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13. tan? x — sin? x = sin? x tan? x

14. cot? 0 + sec? 6 = tan?0 + csc2 0

2 sin 6 co: =
15. l—wzsmo+coso
sin 6 + cos 6
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tanfsind _ tand —sing

" ano + sno - tanosine

. csc 0 + cotf _1+2cosf +cos?0
csc b — cot @ sin2 §

19. sin§ x cos  x tan @ = 1 — cos? §

20. sin 6 + tan 6 = tan 6(1 + cos 6)

21. tan x + cot x = sec x csc X

csc 8 csc 6
e b = = Disac? 0
2 csc6 -1 cscO + 1 ee

23. (1 — cos?t)(1 + cot?t) = 1
24. sec*d —tan*B =1 + 2tan2 0

C0sf sin§ cosBcotd —tang
sec® coth csc o
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26. sin®6 ~ cos'0 = 1 — 2cos?

27. sec? 0 — sin? 6 = cos? 0 + tan? @
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14. cot? 0 + sec? § = tanz ¢ + csc? §
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19. 5in 6 X cos 0 x tang = 1 — cos? §
20. sin 0 + tan 0 = tan 0(1 + cos 0)

21. tan x + cot x = sec x csc x
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23. (1 — cos?t)(1 + cot? =1
24. sec' 6 — tan' 9 = 1 4 2tan?
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26. sin*6 - cos' 0 =1 - 2 cos? f
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